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Review Ditto of Factoring

i.  Vocabulary:
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Hiegsra®t Algebra

1. Numbers that divide other numbers exactly are

calhled -?-OLC ~I_©i'5

2. The answer to a multiplication problem is called

" products

3. The largest term that exactly divides given terms is

called the

. C

4. The product of two equal factors is called a (n)
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5. A number that has more than 2 factors is called a
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6. A method used to multiply omials
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7 A polynomial of 3 terms is called

Fnomial

8. The standard form of a trinomial
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ii. Find the second factor of 36a’b*c if the first

factor is:
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10. —12a’c
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Identify the steps for factoring using the G.C.F Method;
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iii.

Write the following using the G.C.F method:
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- Identify the steps for factoring using the D.O.P.S Method:
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29. Factored, the expressio 16x? 322}2 is equivalent to

[B (4x - 5yj(4x+ Sy)m
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30. If Ann correctly factors an expression that is the
difference of two perfect squares, her factors could
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V . Writesthesproduct of the following: N
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If the last sign is-d’( .- ).then the factors.you choose will be.equal to the™
numenc\@ce/fmlent of the middle term.
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137 x*—10x+24
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44, What is a common factor of x* — 9 and x* — 5x 67




Identify the steps for factoring using the Hard Tri Method:
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WHEN FACTORING YOU ALWAYS LOOK FOR ( 57 C 3 p
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57. Factored completely, the expression 22 + 12y - - 34 is

equivalentto . r& . r@
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58. Factored completely, the expression 2x° +10x~ 12 is

equivalent to .na w& ,,,;;
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59. Which expression represents 36x° — lﬂlﬁly's factored
completely? L.f
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60. Written in simplest factored form, the binomial
2x° — 50 can be expressed
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